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=> s.freq;
=> s.gadin;
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fun void setNote(StkInstrument instr, float freq, float volume) {
freq => instr.freq;
volume => instr.gain;

}

fun void setNote(StkInstrument instr, int note, float volume) {
Std.mtof(note) => instr.freq;
volume => instr.gain;
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public class MyClarinet extends Clarinet {

fun void noteOn(int note, float volume) {
Std.mtof(note) => this.freq;
volume => this.noteOn;

}

MyClarinet clarinet => dac;

clarinet.noteOn(72, 1);
second => now;
clarinet.noteOff(1.0);
second => now;
clarinet.noteOn(1.0);
second => now;

(1) A 215 noteOn Dﬂ*': SENM S 212l EFRI0| S0 QfoF ALt QT 7} BHSHTY,
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Event el, e2, e3, e4;
[60,64,67] @=> int majorC3[];
Rhodey piano;

Mandolin guitar;

spork ~ play(piano, el, major(C3, 0.9::second, 1.0);
spork ~ play(guitar, e2, majorC3, 0.3::second, 0.5);
spork ~ play(guitar, e3, majorC3, 0.3::second, 0.5);
spork ~ play(guitar, e4, majorC3, 0.3::second, 0.5);

while (true) { // Ol 222 MYM =Z2S ML},

::second => now;

}

fun void play(StkInstrument stk, Event e, int notes[], dur length, float volume) {
stk => dac;
while (true) {
e => now;
for (0 => int i; 1 < notes.size(); i++) {
Std.mtof(notes[i]) => stk.freq;
volume => stk.noteOn;
length => now;
=> stk.noteOff;
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Event el, e2, e3, e4;

[60,64,67] @=> int majorC3[];

Rhodey piano;

Mandolin guitar;

spork ~ play(piano, el, majorC3, 0.9::second, 1.0);
spork ~ play(guitar, e2, majorC3, 0.3::second, 0.5);
spork ~ play(guitar, e3, majorC3, 0.3::second, 0.5);
spork ~ play(guitar, e4, majorC3, 0.3::second, 0.5);

=> int turn;
while (Ctrue) { // 0| X& HMAM ZETAS 2HMSHAL,
me.yield(Q);
if Cturn == 2) {
el.signalQ);
e2.signalQ);

=> turn;
}
else if (turn == 3) {
e3.signal(Q);
=> turn;
}
else {
ed.signalQ);
=> turn;
}

::second => now;

}

fun void play(StkInstrument stk, Event e, int notes[], dur length, float volume) {

stk => dac;
while (true) {
e => now;
for (0 => int i; i < notes.size(); i++) {
Std.mtof(notes[i]) => stk.freq;
volume => stk.noteOn;
length => now;
=> stk.noteOff;
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Event el, eZ;

[60,64,67] @=> int majorC3[];

Rhodey piano;

Mandolin guitar;

spork ~ play(piano, el, majorC3, 0.9::second,
spork ~ play(guitar, e2, major(C3, 0.3::second,

while (true) { // 0| X2 MM Z2TUS MG},
me.yield();
el.signalQ);
for (0 => int i; 1 < 3; i++) {
e2.signalQ);
::second => now;
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// piano.ck
MidiIn min;
MidiMsg msg;
=> int port;
if (I!min.open(port)) {
<<< "Error: MIDI port did not open on port:
me.exitQ);

"

Rhodey piano => dac;

int note;
float volume;
while (true) {
min => now;
while (min.recv(msg)) { // noteOn = 144,
if (msg.datal == J) {
Std.mtof(msg.data2) => piano.freq;
msg.data3 / => piano.gain;
=> piano.noteOn;

noteOff = 128

else
=> piano.noteOff;

, port >>>;

// piano.ck
OscIn oin;

=> oin.port;
oin.addAddress("/three/piano™);
OscMsg msg;

Rhodey piano => dac;

int note;
float volume;
while (true) {
oin => now;
while (oin.recv(msg)) {
msg.getInt(0) => note;
msg.getFloat(1l) => volume;
if (volume == 0.0)
=> piano.noteOff;
else {
Std.mtof(note) => piano.freq;
volume => piano.gain;
=> piano.noteOn;

// guitar.ck
MidiIn min;
MidiMsg msg;
=> int port;
if (!min.open(port)) {
<<< "Error: MIDI port did not open on port:
me.exit(Q);

Mandolin guitar => dac;

int note;
float volume;
while (true) {
min => now;
while (min.recv(msg)) { // noteOn = 144,
if (msg.datal == J) {
Std.mtof(msg.data2) => guitar.freq;
msg.data3 / => guitar.gain;
=> guitar.noteOn;

noteOff = 128

else
=> guitar.noteOff;

", port >>>;

// guitar.ck
OscIn oin;

=> oin.port;
oin.addAddress("/three/guitar");
OscMsg msg;

Mandolin guitar => dac;

int note;
float volume;
while (true) {
oin => now;
while (oin.recv(msg)) {
msg.getInt(0) => note;
msg.getFloat(1l) => volume;
if (volume == 0.0)
=> guitar.noteOff;
else {
Std.mtof(note) => guitar.freq;
volume => guitar.gain;
=> guitar.noteOn;
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// directormidi.ck

MidiOut piano, guitar;

MidiMsg msg_p, msg_g;

if (! piano.open(®)) me.exit(Q);
if (! guitar.open(1)) me.exit(Q);

[60,64,67] @=> int majorC3[];
spork ~ playOnce();

spork ~ playThrice(Q);

while (true) second => now;

fun void playOnce() {
while (true)
play(piano, msg_p, major(C3, ::second,

-0);
3

fun void playThrice() {
while (true) {
play(guitar, msg_g, majorC3, ::second,

}
3

fun void play(MidiOut mout, MidiMsg msg,
int notes[], dur length, float volume) {
=> int i; 1 < notes.size(Q); i++) {
=> msg.datal; // noteOn
notes[i] => msg.data2;
Std.ftoi(volume * .0) => msg.data3;
mout.send(msg);
length => now;

for (

]

// directorosc.ck
OscOut piano, guitar;
piano.dest("localhost",
guitar.dest("localhost",

DY
DY
[60,64,67] @=> int majorC3[];
spork ~ playOnce();

spork ~ playThrice();
while (true) second => now;

fun void playOnce() {
while (true)

}

fun void playThrice() {
while (true) {

}
fun void play(OscOut oout, string address,

int notes[], dur length, float volume) {

for (0 => int i; 1 < notes.sizeQ); i++) {

length => now;

RS

// directorosc.ck
OscOut piano, guitar;
OscMsg msg_p, msg_g;
piano.dest("localhost",
guitar.dest("localhost",

J;
J;

[60,64,67] @=> int majorC3[];
spork ~ playOnce();

spork ~ playThrice(Q);

while (true) second => now;

fun void playOnce() {
while (true)
play(piano, "/three/piano", major(C3, ::second,

.05
1

fun void playThrice() {
while (true) {
play(guitar, "/three/guitar", majorC3, ::second,

5);
}

fun void play(0OscOut oout, string address, int notes[], dur length, float volume) {

for (0 => int i; i < notes.size(Q); i++) {
oout.start(address);
oout.add(notes[i]);
oout.add(volume);
oout.add("");
oout.send();
length => now;
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